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Question Paper

B.Sc. Honours Examinations 2022
(Under CBCS Pattern)
Semester - IV

Subject : BOTANY
Paper : GE 4-T

Full Marks : 40
Time : 2 Hours

Candidates are required to give their answers in their own
words as far as practicable.
The figures in the margin indicate full marks.

Plant Anatomy and Embryology

Group-A
Answer any four of the following questions : 5x4=20
1. What is wood? Write the difference between heart wood and sap wood. 2+3
2. What is cambium? Write the functions of cambium. 2+3
3.  What is an embryo sac? What do you mean by double fertilization? 2+3
4. Discuss about the seasonal activity of cambium. 5
5. What is apomixis and polyembryony? Write examples. 5

6. What do you mean by open and closed vascular bundle? Where do you find them?
2+2+1
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Group-B
Answer any two of the fol lowing questions : 10x2=20

1. What is epidermis and stomata? Give brief explanations of adaptation in xerophytic plants.
2+2+6

2. What do you mean by pollination? What is geitonogamy and xenogamy? Give brief
explanations of adaptation in hydrophytic plants. 2+1+1+6

3.  What is protandry and protogyny? Give examples. What is interfascicular cambium?
Discuss about the shoot apical meristem. 2+242+4

4. Write the practical application of polyembryony. Briefly explain the structure of pollen grain
with diagram. 5+5
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Or,
Paper - GE 4-T
Plant Physiology and Metabolism
Full Marks : 40 Time : 2 Hours
Answer any four of the following questions : 5x4=20
1.  What is transpiration? State the effect of humidity and wind speed on transpiration.
2+3
2. Discuss the role of essential nutrients in plants. Mention the deficiency symptoms of
potassium and magnesium. 3+2
3. How can the path of downward translocation of organic solutes be experimentally proved?
Mention the existing theories on translocation of solutes in higher plants?
2+3
4. What are ‘nod’ and ‘nif” genes? Give an outline of the mechanism of biological nitrogen
fixation. 2+3
5. What are plant growth regulators? Describe the role of gibberellin in agricultural practices.
1+4
6. What do you mean by vernalization? Write the names of the two main influencers of
vernalization. 3+2
Answer any #wo of the following questions : 10x2=20
1. What are the different types of photosynthetic pigments? Describe the process of
conversion of light energy into chemical energy in photosynthesis. 2+8
2. Discuss transpiration pull or cohesion tension theory of ascent of sap. Why is this theory
most acceptable? Mention the flaws in this theory. 6+2+2
3. Why is the photosynthetic capacity of C,4 plants higher? Briefly discuss the chemical stages
of this cycle. 2+8
4. How can plants be classified on the basis of photoperiodic response? Discuss the role of

phytochrome on flowering process. 4+6
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